MAEC -01

Max. Marks 80 Time: 3 hour

Very short answer type questions (8 x 2 = 16)

1. Give your answer: -

(i)

(ii)

(iii)

(iv)

v)

(vi)

(vii)

(viii)

(ix)

()

What is the relationship between production possibility curve and opportunity
cost?
TG 9T I Ud AR AT & Aed Hae T dhiford ?

Give reasons behind download slope of the demand curve?

ART 96 & Al B AR BT B BT HRU W BRI ?

What is marginal rate of technical substitution?

“IfeReTI= BT Theild! T X’ RT 8 ?

Distinguish between movement and shift in demand curve?
AT 9§ gRaad Ud fadad &1 e Sy ?

What is price elasticity of demand for life saving drugs?

SiTae &7 TaT3il bl HRT &I HIAd ol a1 8l & 7

Define derived demand?

= HET BT gR¥INT IR ?

What will be the value of elasticity of demand if the demand curve in a
horizontal live parallel to x axis?

afe AT 9% x 3MeT & FAMTR &AfaS X&T & ®U A B G5, |57 B A =
grft ?

What are the types of equilibrium ?
e fdhd UHR &7 8T & ?

Which of the following commaodities have inelastic demand ? salt, a particular
brand of lipstick, medicine, Mobile phone and school uniform ?

g ¥ B Al g% B A6 dA@eR B8Rl & (96, Uh 99 gis &l
fafiRe®d, garsdl, Aasd B Td Whel J(-hH)

What is point of inflection ?

Ars fag | My w®Im |wEsa ® ?



(xi)

(xii)

(xiii)

(xiv)

(xv)

(xvi)

(xvii)

(xviii)

(xix)

(xx)

(xxi)

(xxii)

(xxiii)

What are ridge — lines ?

aRfe X@ETd @1 Bl § ?

Define consumer’s surplus?

ST & MRS Bl T HITY ?

What is the slope of Iso quant ?

JAITE 9% & STl DI WL BIfSTY ?

What do you understand by Iso - cost line?

THANT T W 3 7 97 & 2

Differentiate between fixed and variable cost ?

Rer ug yRITTNS ANTd # 37 e BRI ?

What is price discrimination?

P AASHRT I R Iy g ?

Define economic rent?

M H TE BT T BT ?

What are the laws given by Gossen?

TRE gRT o I fm w8 °?

Define total cost and its components?

HA AN Ud 39 dcdl bl GRIRT ST |

What is “Expansion Path”?
“fRAR T | I Al © 7

Distinguish between short run and long run production function?

BTN T SrIdhTeld Seaes Beld H JR T I |

Define Indifference Map?

dexerdT A BT TRYIRT BHIfore?

What do you mean by cross elasticity of demand?

AT &) foRe) o/ 3 3T =T IHe §



(xxiv) Define budget line and its slope?
gofc gT UG 39 ITT Pl I PHIOTY ?

(xxv) What is the difference between real and imaginary product differentiation?
IRAfA® Yd Hred=d ITE fASIaR & 7ed 3faR T HIfoTY |

(xxvi) Elucidate law of return to scale?

Y B gfdhel” a9 B wWe HIfu?

(xxvii) What is Laffer curve?
THR ah Ty dEd ® 7

(xxviii) Differentiate between accounting costs and economic costs?

STGTh oINTdl 31 3N IRl & drd 3faR e BT |

(xxix) What is the most important feature of monopolistic competition?

USRS TR & g faemar & 872

(xxx) Define network externalities?

grerad f5d sed § ?

(xxxi) Is a production function shows constant returns to scale, then what will be
returns to a variable input?

Ife T STed Bold ReR TM & Ufdthel g9 a1 aRad=Teiiel | 4

e gl ufdhol T 81T ?

(xxxii) Differentiate between optimum size of plant and optimum level of output?
JIHATH HIF & MHR Yd JJHATH IUEH B VR & Heg AR W

DI |

(xxxiii)Define CES production function?
IATEH Bed BT GRATYT HITTY |

(xxxiv)What do you understand by marginal productivity theory of distribution?
faaRT & Wi IcTe g 9 3 1 |FHsKd © ?

(xxxv) Define value of marginal product?

IATE BT AT oI fhd ded & 2

(xxxvi)What is Monopsony?
"l YHIHR” e Fed & ?

(xxxvii) Define Quasi — Rent?

JMYTT o Dl YRYTNT BT |



(xxxviii) Distinguish between real and money rate of interest?
IRAfA® Td Aifad N1 B & D 7l R e DIvTY ?

(xxxix)Define grand Utility possibility frontier ?
T IYARTAT FATGAT BISIR B gR¥IT BT |

(xI)  What is pareto optimality?
3TIdHeAdH FT § ?

Section B

Short answer type question (4x8=32)

1.

Show that two parallel demand curve have different elasticities at a given price?
Sigy &t &1 g3 dWd WR I GAMR AT 96 7197 31 A= drkl o e
PRA T 7

What is the relationship between slope and elasticity of a demand curve?

ST T AT 9F BT rg H 9T GE g ol § ?

Explain the factors determining price elasticity of demand?

AT &Y BT ard bl HeiRT &= a1l dcd 19 9§ ?

What is PCC (price consumption curve) drive a demand curve from it for normal
good and Giffen grod?

BT SYANT I [hd Hed © ? SHDI WAl ¥ AR Ud Rifth avgall &1 A
% i PR |

Distinguish between ordinal and cardinal approach?

HHATD Td TS GREDHIV & L AR T DI |

Differentiate between Static and Dynamic analysis?

Wi Ud TATHD GIEHI & Heg AR T BT |

Elucidate types of elasticity of demand?

“HRT BT o B UBRI b fId=a-T BT |

A 20% fall in the price of sugar leads to 25% rise in its demand. Calculate the price
elasticity of demand. Comment on the commodity also?
A BT BT H 20 IR BT BHI I SHB! AT 25 YT ¢ ST & | HAT

DI BIAT Al DI TUFT DY T g IR fewof HIfSTg |

Explain Giffen paradox and Veblen effect?



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

e ORI U9 deot U9 BT FHESY

Define Income Consumption Curve for inferior good?

1 Iegall & oY 3 SUHIT 9 Aefid BT |

Prove the convexity of Indifference Curve?

TERIAT 9F &I I~dIexdl ol Rig HIRTY ?

Explain Properties of I1so-Quant?

TASATE 9F P fa9redrd gadrsy |

Explain the inter-relationship between TP, MP, and AP?
Hol ITEH, AT I Ud T IATEH & Heg AR T DI |

Elucidate Water — diamond paradox?

“TA—BRT FORTEMRT” BT e BT |

Define the short-run supply curve of a perfectly competitive firm?

qof gferdeft BH BT reqdbreld g 9@ Hefud aifog |

Explain the relationship between AR, MR, and elasticity of demand?
AT 3T, AT N TG ART B g & FeT Hael T DIy |

Discuss the degress of price discrimination?

HId fANSIHROT B 37 Bl faaiRd HIfu |

Define concept of excess capacity with the help of diagram?
o @1 Ferar 9 rfaRed emar Riga & e ST |

Define firm’s demand curve for one variable factor?

TP A & RIS B R BH BT AT 9 Aefid Bty |

Describe Hicksian concept of consumer surplus?
R & “Su9Iaar ifeRe” Riga &1 e $HIfTY |

Define the expansion part for linearly Homogeneous production function?

TG E®RY IS Hheld & AR 9T Bl fAwfid ST |

How is a market demand curve different from an individual demand curve?



23.

24,

25.

26.

217.

28.

29.

30.

31.

32.

IR 117 9, AfRTd 411 96 9 g bR A= gdr g ?

In Cobb-Douglas production function average product of labour (AP) depends on the
ratio of two factors (K/L) prove it.

Pl ST UG Hhel H FH 3I\d ST, &l Al (K/L) & U R iR
PR B, g DI |

Explain the law of variable proportions.

qRATTEN  SuTdl & 9 &1 fade Iy |

What is the difference between fixed proportion production function and variable
proportion production function?

ReR U T IRITTNS UTT I el & Hed IR WK DI |

What are the reasons for increasing and decreasing returns to scale?
UA @ d¢d Ud gcd Ufdhell & BRI & HIfoTT |

Explain measurement of price elasticity at a point on linear demand curve? Does
elasticity differ at various point on it.

T el Y& AT g & & g ) 77 3 $Hd A/ $ WE HINY | 39
AT 9% R Rerd faf= gl w a1 d/ - g 2 2

Give reason for backward bending supply curve of labour.

59 & Uil 9% b YUY Bl AR S §UY B Bl SR WL DI |

Elucidate Bernoulli’s Hypothesis?
AT T W GHIeT STferd |

What is elasticity of substitution? Explain with diagram?
YRR~ @1 g a7 27 o @) Ferdr 9 WK Sy |

What is monopoly power? How is it related to the elasticity of demand facing a firm?

THIAR vfed T Bed 27 I8 BH B 41T &I o I 59 UeR Fefod 27

Explain the measurement of consumer’s surplus through indifference curves
assuming (i) constant marginal utility of money (ii) declining marginal utility of
money?

IR BT §RT ITHIET & AfTRD DI AYH HT U HIford i (i) a1 Dl
A IuAfr ReR &1 (i) qa1 &1 Areid Syifiar gedl gg 8l |




33. Define AVC, AFC, AC and MC. Explain the shape of the cost curve graphically.
AVC, AFC, AC 3R MC @I IRMT SIS [391 ARTAT a9 @l 3fTdaia &1 o gR
i IR |

34. What is price leadership? Explain its various forms?
AT < (b Ped 27 39S (AR Wedl BT f[awga I |

35. Define Homogenity of a production function and relate it to returns to scale?

IATET BRI BT FoIradT IRITRT HIRTT Tar 3961 U9 & Ufdthel W Hder
qaTsy |

36. Define revealed preference axiom?

Igred agdn Gl bl aR9Td H |

37. Explain Scitovsky’s double criterion?

“RICR®! &1 <81 "Auds” Rigrd @ fadasr o1 |

38. Elucidate theory of second best?
“fgda atad” & NIgT=a @1 e BITY |
39. Critically examine the Ricardian theory of Rent?
Raret @ o= Rigid @ eracdd fadedr HIfy |

40. What is Bergson — Samuelson’s social function? How does it incorporate value
judgments to evaluate changes in social welfare?

I — ARGIAAT & AT gTa | 37T T A &7 FMISTh HedTol H
g dTel IRATAT BT JeAThd &3 =g b edl &1 39 Rigid # wnfiat fham T
g7




41.

42,

43.

44,

Section C
Describe the long-run and short run equilibrium of the perfect competitive market?
qui gferegedl 9ok T STEdbTele Gd Aeqdbleld Ay Mgy ?

If the industry is in long run equilibrium, then each firm in the industry will also be in
long run equilibrium. However the converse in not true? Explain.

Ife < # SEURT AR H B A IS BH W AR H 8RN, 59 SHdT Seal
A T8 8 ? T DI |

Explain the following —

(a) Three stages of Production (STaTa & 3a=TV)

(b) Feasible stages of Production (STTad &1 HHIT 3d<el)

(c) What should be the exact point of that stage where the producer will like to
operate?
SUTGdH, IATEH DI T I[ARAT H ol IUTGA HRAT AT ?

Or

Explain the symmetry of production ?
ITE Bl FHMAT DI [aega BIfoy |

Define the demand theorem form revealed Preference theory. Also prove the
convexity of indifference curve graphically.
WIfed JFEME Rigid @ FA8™al | AR J9I & R0l difsiy ud = a1
FERIAT ¥ IFRAE IBT & Iarexdl o g BTy |

Or
Explain the effect of change in price of a factor in terms of substitution effect and
output effect ?

YRR~ Ud ITTGA U9d & FeH H AF @I HIFd H 8 dTel gRdds &l
AT DI |

Define the backward sloping supply curve of labour. Explain substitution and income
effect of a rise in wage rate?

379 BT U8 Bl AR FedT goll Id 9 Fufia Sy | Aol &% 4 gfg 8 &
IRUTRERY UfRITI~ T4 3 U1 Bl T DI |

Or
In the case of Giffen & Normal goods, how price effect can be split into substitution
and income effect?



45,

46.

47.

R Td AT a3l & Haw H, [ UBR HIFd J91d Bl UiaRea=~ Td 377y
uiTg # fawaa foar < ddar g 2

Explain the law of Equi-marginal utility? How does it explain consumer’s
equilibrium?
T ST f & T $IRT | g9a! Ferdl 3 f6a geR ST
& dde™ B fademT @ o dadl § 7

Or
Give reasons for diminishing marginal rate of substitution. Explain the point of bliss
or satiation with the help of circular indifference curves.

UIRRITIAT &1 STHA WHid &% & &1 BRI 3 ? Afddad ddie f[dg &1 MR
IR bl gRT avf BT |

Given the demand curve of a monopolist:

Q=50-05P

Given the cost function of a monopolist:

C=50+40q

THIRIBR BT 7T HAd &

Q=50-05P

UHIIBR BT ANTT Herd

C=50+40q

Find out (SITd ®ITY)

(1 Equilibrium price and quantity
AR DA Td HI=

(i) Short run profit of the monopolist
UHTHRI BT JTDBIAT TATH?

Prove that this profit is maximum possible, since second order condition is satisfied.

Tg QId IR b I8 o™ Aftidhaq 2 Fifd fgdia &9 &1 od I8l [ 8l 2 |

Or
Explain Short run and long run equilibrium under Monopolistic competition?

THIIHRIHAD UfRTel & FId AeUBIel Td Qredbleld Hgeld Pl T BIY |

Describe labour deepening, Capital deepening and neutral technical progress though

isoquant.

ST T, Yol T8+ a7 I adb-iid] WA BT ARG 9b] §RT 0 I |
Or




48.

49,

50.

51.

52.

Explain sweezy model of oligopoly. Does it provide satisfactory solution to the problem of
price determination?
TAEHR & ol Rigrd &1 arar HIT | Fa1 I8 did iRl o T ar &
HaATSSIAdh FHE U Bl 2 2
Critically examine the welfare criterion propounded by Hicks and kaldor?
fRad Ud PleeR gRT URMUIRT BTl BT BT BT ATArdHD TRIET0T & |
Or
Discuss the theory of risk and uncertainty behavior of a consumer?

I & SNIRIA TG rfeafcrar Rigra @) aRar HifoTg |

Distinguish price leadership of a dominant firm from price leadership of a low cost firm in an

oligopolistic industry?
& ISR I8N H Udel g9 dTell BH a7 HF DHIAd dlell BH & 41 3
ENIEN
Or
Discuss the Bertrand solution of duopoly. How does if differ from the cournot solution?

fg PR & IRSS FAEME &I [Ade IR | I8 dHAlc FAEE A [ UhR
=1 g7?
Profit is a reward form bearing unartainty discuss?
o JA¥Edar a8d ®RA &1 Ufdwel Biar & | fader $ifvi |
Or
‘Profits are a dynamic surplus’. Critically examine.

Y T TITHD MR B AT D ARAT HIToTU |

How wages are determined in case of perfect compellation in labour market and imperfect
competition product market.
59 9o H goi Ufcrfar vd Sere 9roiR | gt Ui & Rerfa 3 worg)
R B [ER 59 UHR fhar S daar g ?

Or
Explain the wage determination where there is monophony in the labour market and

perfect competition in the product market ?

%9 qITR | el UHIEBR Ud IUTE qroiR H gui ufcraiian &1 Reafd # #oige
R & R BT fawga s |

Define and illustrate diagrammatically general equilibrium in an economy with perfectly
competitive factor and product market. State and explain clearly the conditions in which a
general equilibrant will exist for such an economy?

AEE Td IcdTE qIofR H qof gfoegef 89 uR iefedwer & A e @l o
R W BIY |

Or



53.

54,

55.

56.

What is meant by general equilibrium? Using edge worth box diagram, explain general
equilibrium of a pure exchange economy?

AW Ao o 37T F7 931 © ? Yoraed — dfad &1 ST a-d gV fagg
faferra sreferazen & AT Ao @I faxga B |

State and explain the conditions of parete optirnality regarding (i) distribution of goods
between individuals. (ii) Allocation of resource between firms. (iii) Direction of production?

INET JdHerad @l Wi Bl faRId HITg —

(i) AT & Heg a3l & fIoRT & Fao H
(i) AT BT faf= AT & "2y Jaed & ded |
(iii) SUTeT & Q9 & Wed H

Or

Explain the concept of utility possibility curve flow would you explain paretios criterion of
social welfare with utility possibility curue?

STAAAT FYTGHT a6 DT T HINY | $HG] TerIdl I {59 TeR WRel &
IS BTl HIUeS BT FISTAT Sl FhdT ¢ |

Critically evaluate the kaldar hicks welfare criteria?

PIeeR ZaH & FAVGR] AFGS DI ATAIAHD JATHT DITSTT |

Or
How far can kaldor-hicks scitovsky criteria be considered an improuement our pareto’s
criterion of social welfare? Discuss.
o (N o - o o -
DIcSR — Tedd — THC[IXD] dT HIAGS [hH UhRR U] Eﬁ HMHITGIdh h IV HIAqs

A A g ? g Sifoiy |

Distinguish between utility possibility curve and production possibility footie. Also derive

utility possibility curse form production possibility frontier?
SYAATAT AT 9% Ud ST GHIa-T & & AL 3R WL HIFTY | SATEH
FATGAT 9% DI AT A SYARAT FHIEAT 96 DI F6iud HITT |

Or
Explain grand utility possibility frontier and how poient of constrained bless in achieved?

fIga SUAIRTAT WHTaAT a9 GUPF BT URATNT I Td 3H®! ARl 9§ Afcafed
Sifrmae Haw g & fa yeR ura faar S |adar g 2

Explain the theory of second best- In which coser does it apply.

g walcw Rigma &1 W SISy | I8 fT qemsl § &R 81T ¢ |
Or
How to external tier cause market failure: in what ways the government should interveve to

correct market failure?



S7.

58.

59.

60.

61.

62.

63.

64.

g8diy fHd UHR IR DI GAIAT PRl © 2 dI6TR Ulddherdl ®l ARDR b
ST & ATIH W AJfoTd BR Fhell © 7

Critically examine bergson-samudIson social welfare function.

T — JRGITAAT & AMISTh DHedol RIgId &1 AT FRAT DIy |
Or

Discuss arrow’s theory of social choice?

W & AMIG ag- g @1 fadasm S |

Explain price and output determination under Monopoly?

THIHR 1 R # o gd Ire FaRel &1 fawga I |
Or

Write a short note on
(i) Bertrand modal (Rg~S HIS)
(ii) Edge worth model (QG|€I24C HVGFI)

Explain the feature of cobb douglar production function?

CbTGI — S Sdiqd Wheld EI% as qalﬁ SRIER
Or

Discuss the Friedman savage hypothesis.

BIeHT — WISl IRBeTAT & fada=T By |

State application and user of indifference curves?

deXIdT dbl b IUANT bl TS BITOTT |

Or
Explain ordinal approach of utility analysis?

IUGIRTAT A2tV BT HHATAD GREHIUT Bl I BIY |

Decompose price effect into substitution and income effect using slustky’s method?

TACTD! A BT IUANT HRA Y DI I9Td DI fhA YHR UfARATI~ U 37 y1a

H favaa far S dahar § ?
Or
What is an Engel curve? How it is derived from income consumption curve?

VT 9% dIT § ? 3T SUINT I &) Jeradl & VTl 9@ &1 fefd Sy |

State and explain the law of diminishing marginal utility? How is low of demand divide from

it?

STTATE A SYATRITT 98 BT We HIfoTT | 39T J8-dT | fhd bR 47T &

forg @1 fefia far S |gadr 2 |



